[ number of missing inner layers | [ number of missing outer layers |

1 Entries 3758 1 Entries 3758
E + [ Mean 0.1972 Mean 0.6977
r | .Std Dev 0.4988 Std Dev 1.864
o pp— : : -1 : s .. : I
107 *TEnuies 3771 10 : : *TEnties 3771
F Mean 0.2005 : Mean 0.7046
r Std Dev 0.5036 Std Dev 1.868
-2 eteiiiteiiii...] 2L e B S
10 3 3774 10 3 Entries 3774
o 0.2003 o Mean 0.7001
o 0.5029 o Std Dev 1.864
103 Tt ¢[0)id SICERLEE SULRRRLE IO SRSETTIRT T I
o 3768 o Entries 3768
F 0.1975 F : : : | Mean 0.7028
1074 > 0.4998 1074 . . . |Std Dev 1.871
E R | SRR R 1
F Entries 3754 F Entries 3754
L . Mean 0.1995 L . . . Mean 0.6993
10-5 - . .1. . Std Dev 0.5019 10—5 L. T N +. | Std Dev 1.864
01069,"" ....!.... P I P T 01059 II
T T r :
@ @ L .
]1.- ------ R
- %= :
0.95 :
0 5 10 15 20 25

—— BoV-mkEI—TT JanUpdate-noEyr
4 = B e
[mean hi{ == BEY-mkE-H-3anbheate 3v;

I —TT7J ate- ﬁErr
= 40 -l Entries 3758
" Mean 17.04
> Std Dev 3.942
A L R S T
ﬂ 35 :_ Entries J
7
30 10?
25
20
15
10F
.9J..UE:IIII!IIII!IIII!IIII!IIII!II.II o : L 43
= F z : : : f I r 1l 1
o o [h I ho8 E S 17
- 11 |- T E P U (R
0.95L i i ; : | 0.0t LT 1 FlLL [ ][L :
=3 -1 0 1 2 3 M 5 10 15 20 25 30 35 40
track n track hits

[ N of simulated tracks vs pT |

- - Entries 143225 Entries 3828
lo—l e eeaeeileeieaaaaaan [A— Mean 2.115 Mean 11.91
: Std Dev 5.971 Std Dev 16.05
. | . |
= Entries 143225 Entries 3841
[T i TR T Mean 2.115 an 11.89
E . Std Dev 5.971 StéaDev 16.02
E : : I | I
B : 143225 Entri 3846
3 : 2115 Mean 11.9
10 E : 5.971 Std D 16.03
E : - —t
r 143225 Entries | 3839
_4 B Mean 2.115 Mean 11.9
107%g i R Std Del 5.971 Std Dev 16.02
: : — 1 [ : [
B Entries 143225 Entries 3825
[ Mean 2.115 Mean 11.89
107°F Std Dev 5.971 Std Dev 16.04
o108} : o105} : . :
=2 r B =2 F B B B
£ b Ml N
‘llllluulllllll“l” 4
;_I-TTTTTTTTTTTT‘[TTT””” % :
i : : : + ¥
0.95 T + + + 5 3 0.95 T * * + 5 3
10 1 10 10 10 10 1 10 10 10
TP p. track p_



	Contents
	Page 1


